A Wave motion is Newton's – Kepler's F = m γ = 0 

 By Professor Joe Nahhas 1976

Abstract: Main stream Nobel Prize winners physicists silly wave- particle duality talk made my sugar glider bored to leave me without looking back because a wave is a high school physics exercise when the classical Newton's – Kepler's force F = m = γ  = 0       

Mechanics Universal solution

All there is in the Universe is objects of mass m moving in space (x, y, z) at a location 

r = r (x, y, z). The state of any object in the Universe can be expressed as the product 

S = m r; State = mass x location: 

P = d S/d t = m (d r/d t) + (d m/d t) r = Total moment 

   = change of location + change of mass

  = m v + m' r; v = velocity = d r/d t; m' = mass change rate

F = d P/d t = d²S/d t² = Total force

F = m (d²r/d t²) +2(d m/d t) (d r/d t) + (d²m/d t²) r

F = m γ + 2m'v +m" r; γ = acceleration; m'' = mass acceleration rate

In Cylindrical coordinates system

We Have r =  ρ ρ (1)  + z k        

And v = ρ' ρ (1)  + ρ θ' θ (1) + z' k   

And γ = (ρ" - ρ θ'²)ρ r(1) + (2 ρ'θ' + ρ ² θ") θ (1) + z''k

r = location; v = velocity; γ = acceleration

F = m γ + 2m'v +m" r

F = m [(ρ" - ρ θ'²)ρ r(1) + (2 ρ'θ' + ρ ² θ") θ (1) + z''k] 

     + 2 m' [ρ' ρ (1)  + ρ θ' θ (1) + z' k] + m"[ρ ρ (1)  + z k]  

  = [d² (m ρ/d t²) - (m ρ) θ '²] r (1) + (1/m r) [d (m²r²θ')/d t] θ (1)  + z''k

  = 0

With m = constant

Then m [d² ρ/d t²] - ρ θ'² =                 Newton's Gravitational Equation     (1)

And d (m²r²θ')/d t = 0                        Kepler's Areal velocity law              (2)

And m z'' = 0

From (3) z = ct    

And (2): d (m²ρ²θ')/d t = 0 

Then ρ²θ' = constant = h                                                                                                              

Differentiate with respect to time

Then 2 ρ ρ'θ' + ρ ²θ" = 0

Divide by ρ ²θ' 

Then 2(ρ'/ρ) + θ"/θ' = 0

And 2(ρ '/ρ) = -2[λ(r) + ì ω]

And θ"/θ' = 2[λ(r) + ỉ ω]

Similarly we can get  

Also, ρ = ρ (θ, 0) ρ (0, t) = ρ (θ, 0) Exp - (λ +  ỉ ω) t

Then θ' (θ, t) = h/ ρ² (θ,0)]}Exp 2(λ + ì ω)t -------------------------- -----I

And, θ'(θ, t) = θ' (θ, 0) θ' (0, t)

And θ' (0, t) = Exp 2 (λ + ì ω) t

Also θ'(θ, 0) = h/ ρ ² (θ, 0)

And θ'(0, 0) = h/ ρ ² (0, 0)]}

From (1): m[d² ρ/d t² - ρ θ'²] = 0

Let ρ =1/u

Then d ρ/d t = -u'/u² = - (1/u²) (θ') d u/d θ = (- θ'/u²) d u/d θ = - h d u/d θ

And d² ρ/d t² = - hθ'd²u/dθ² = - hu² [d²u/dθ²]

- hu² [d²u/dθ²] - (1/u) (hu²)² = 0

[d²u/ dθ²] + u = 0

Then u = A Exp (- ȋ θ)

And ρ = 1/u =  ρ (0, 0) Exp (+ȋ θ)

And  ρ (θ, t) ρ (0, 0) Exp{ȋ θ - [λ(r) + ỉ ω] t}   

And finally r = ρ (0, 0) Exp {ȋ θ - [λ(r) + ỉ ω) t]} + c t k

If λ (r) ≈ 0 fixed orbit; then 

Then r (θ, t) = ρ (θ, 0) ρ (0, t) 

                    = ρ (0, 0) Exp ȋ[(θ - ω) t] + c t k

Which is the wave equation in cylindrical coordinates

In plane mtion or c = 0,

 Then r (θ, t) = ρ (0, 0) Exp ȋ[(θ - ω) t] 

Or Then r (θ, t) = r (0, 0) Exp ȋ[(θ - ω) t]  
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